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B.Com. (Part -1)
‘ Term End Examination, 2019
Group - A
Paper - 11
Business Mathematics

Time : Three Hours] [Maximum Marks : 75
e @ e & Iw AR T F oiE ST

Sfeft 3R sifwa &
Note : Answer all questions. The figures in the right-
hand margin indicate marks.

18 / Unit-I
‘1. (@) x ¥ WY T FFAg 7

x
4x+2

Differentiate with respect to x

N
4x+2
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Eaicdl 2. (a) Preifss anfors % o i ¥ SAagdl
y=—10.5:2 + 672x + 205 . i : 1
Find out the maxima and minima of the . hifeg

1 -2 3 4
following : i ' I? 1 -2 3

y=-10.5x2+672x + 205

-5 3 -4
39491/ OR Find all the co-factors of elements of first
. row in the following determinant :
: 7
(a) TS F e ¥ WA HE:
-2 3 4
76 x Y2161 ' 1 2 3
@12 . 5 & -4
Simplify by using log tables: ' )
(b) Tr=ifwa wRfors =1 W= Hifwg :
176 x 2161 L5 o .
212)?
212) 25 4
(b) AfE log2=0.3010 T log 3 =0.4771 &, 6 15
@ AR TW F § Find the value of the following
7lo, 1—9—210 £+3[ogﬂ determinant :
By 782 T %0 \ 131
If log 2 =0.3010 and log 3 =0.4771, find ’ 235 4
the value of : 6 15
10
7log——2log2—5 + 310gﬂ Sear/ OR
9 24 80
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wefi e

> 3 32
md+nd+3] W HA FE ISR

10 2 4
= = d the
If m—[z 3] and N [3 2], then fin

value of m2+n?+31.

THE / Unit-T11

T W AW §HE F 75,000 @
THA T THEA F 60 T TEA 1 WA ¥
I8 A 7250 H aw g T50 § faedt £
I W TS0 G wUMl FE W TI5 WY
faemn @1 sifuean o™ ww w3 F R
T T S qu gt w7 sfue
Y SR

A fumiture merchant can invest ¥ 5,000 in
his shop. In the shop there is place to put 60
articles. He gets a table for ¥ 250 and a chair
for ¥ 50. The profit he gets on a table is

¥ 50 and on a chair is % 15. For maximum
profit how many tables and chairs he should
purchase. Also calculate the maximum profit.

STg97 / OR

15

15
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(a)

®)

Tatio

(5)
1170 &, fFw ok H=f A 2:3:4
%mﬁﬁmmﬁﬁmﬁ
111 .
554 Eo EREIG] o %t faa
T SR 3 @ ® R ey @ e
[y 7

¥ 1,170 is to be divided among Kanchan,
Kiran and Kunti in the ratio 2:3:4. By
mistake the distribution was made in the

. Calculate the gain or loss

PN

L,
2

of each

g W=

y this error.

nﬁwﬁrﬁﬂammaﬂﬁmsom
ol =™ =1 24 Al H = owwd £ @
Sfafed 10 wwe FW wW@ g 18 qew
I R wW oW et R 8 wnma
Exull :

8
If 30 men working 8 hours a day can do
a piece of work in 24 days, in how many
days 18 men working 10 hours a day will
finish double piece of the work ?
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4. (a) T32540 T 4°d 27E & foq 5%
affs w A THgie = SRl

Find the compound interest on ¥ 325.40
for 4 years 2 months @ 5% per annum.

(b) Twafs = F fFE W A T8,000 F
wwhgfe = 3 e A 71,261 B A2

At what rate of compound interest, the

interest of ¥ 8,000 will become ¥ 1,261
in 3 years ?
HYql/ OR
T400 ® 2 aEY afiE T & 4% aAfYH
R A R qeg aw fAEvE FW Fifeg
Safd TaE Sids 8l | 15

Find the present value and amount of an

annuity due of ¥ 400 for 2 years at 4% per
annum when it is paid anually.

TF1E/ Unit-V
5 (o) ¥0 ¥ Fm9 § 20% @ w9
= F W A T ¢ aw F 10
ﬁsmhaa’c@'ﬁauﬁﬂmgéaﬁqa
N FH G T OB g e 7

()

(a)

(7)

A reduction of 20% in the price of
oranges enables a map 1o buy S oranges

more for ¥ 10. Find the reduceq price and
price before reduction.

wﬁ@ﬁﬁgwﬁ?mm‘;s%’
3R ifem 7 Feed w1 sived 40 ¥ afe
sifam e 50 ®, @ weeh Wem W
Hifg |

Of the four numbers the average of the first
three is 45 and of the last 3 numbers is 40.

If the last number is 50, find out the first
number.

3Eqr/ OR

&0 I WY i e W 20% ATER
T R, 25 T 9 24 e € 9 F
forT BU g9 W 23% AR SATER ST
% 3 U T T e firern € fowe
aifera o9 7400 T

Hami General Stores gives a discount of

20% of the published price. (Z:ounls 25
books as 24 and gives further discount of

23% on reduced price. What does he get
o g
per book if the published price 1S F4007
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(b) W T 616 W wEfRa B K F QA
rEfEe S=@ ¥ 3w O] § SUS! TEel
HERRe T 12% oY a1 gHa WEHA W
12% S T Bt $1 P T SH N H
o £ =7 wify, fpen 3R fpeR Wiw@ 2 g

Praveen sells two cycles at a price of
¥ 616 each. In this transaction he earns a
profit of 12% on one cycle and suffers a
loss of 12% on the other. What is the
profit or loss on the whole and what
percent ?

2,140
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